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28 P22 Il IR &h R 18 FERE
b (B/E)

B i [ 6-10 74-8.5 8.1 =
EHEE (mg/) 100 <30-36 32 =
iR Y48 & (mg/l) 10 <2.0-2.7 2.1 =
WY& E (ng) 2000 160 - 1200 468 =
WAL E (mg/) 10 <0.5 <0.5 =
FALYEE (mg/)) 0.1 <0.04 <0.04 =
T E RS YRR (me/) 100 <15 <15 =
HAE  (mg/) 20 <10 <10 =
MeegE  (mg/) 0.5 <0.3 <0.3 =
FRER R E (me/) 1 <0.6 <0.6 =
FHEMER (mg/) 15 <7 <7 =
LEFTFEE (g 2000 <100 - 380 217 =
Ak E (mg/) 200 <20 - 37 28 =
M (0) 43 24 - 27 25 =
T ¥V E (me/l) # ; )

EEEB

fif - (mg/D) 2 <0.4 <0.4 =
5 (mg/) 5 <1 <1 =
% (mg/D) 0.1 <0.1 <0.1 =
#&  (mg/l) 1 <0.3 <0.3 =2
i (mg/l) 2 <0.5 <0.5 =2
55 (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.20-0.21 0.20 =
7K (mg/l) 0.05 <0.05 <0.05 =
#2 (mg/D) 2 <1 <1 =
B (mg/) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 =
FE (mg/l) 2 <1 <1 s
H e B E# (ng/) 10 <1.0 <7.0 =
B (mg/l) 5 <l.0-1.2 1.0 i
#  (mg/) 10 <2 <2 &




28 1722 il PR & B EIg 8 FEaRE
e (& /5)

2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AKX ZEE (mg/) 0.01 <0.01 <0.01 v
FEZELEEY
KT (mg/l) 0.1 <0.06 <0.06 v
EEMLEY :
1,1,1- = & 2 % (mg/) 0.05 <0.025 <0.025 v
ZEBE
% & I K 48 & (mg/l) 0.003 <0.003 <0.003 yes
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fEF REE = BESE (ZE—XNE+2H)
28 22 1 R R aE R ISR FERE
(HEE =) @ (B/F)

(F) =+-4srgEpigm @
ok (kg/0.5h) 0.58 0.00 - 0.02 0.00 =
— %1 ERE  (ke/0.5h) 3.86 0.00 - 1.46 0.09 =
B L (ke/0.5h) 1.16 0.00 - 0.15 0.02 =
FAEE  (ke/0.5h) 0.08 0.00 - 0.00 0.00 =
HEAEY
(ML Z &1t & 5 &) 7.71 0.48 - 3.99 1.68 =
(kg/0.5h)
aa 5t (ke/0.5h) 0.39 0.00 - 0.08 0.00 =
— &b B (kg/0.5h) 1.93 0.00 - 1.37 0.08 =
(z) B9 ©
kL (kg/day) 9.25 0.03 - 0.15 0.09 =
— /bW (kg/day) 46.27 1.49 - 9.24 4.11 =
BElZ (kg/day) 9.25 0.29 - 1.91 0.90 =
#FALE (keg/day) 0.93 0.00 - 0.00 0.00 =
HEAY
(ML= & 1k & = &) 185.06 66.31 - 93.54 79.08 =
(kg/day)
HAH MR (kg/day) 9.25 0.02 - 0.23 0.12 =
— & b b% (kg/day) 46.27 121 - 7.86 3.56 =
(W)  Hfi

e 28 i1 R 4R FERE

(HERr =)@ (B/F)

AREIED o
CLER SR F) ke | 0P noe =
BEBRALEY
(UL@EiE|R & EiTE) 0.73 <0.004 =
(kg/h)
M (LU e E) (kg/h) 1.45 <0.04 =
widEE(CIBEETE) ke/h) 0.21 <0.006 &
B RCRARE (kg/h) 0.19 <0.005 =
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(HEmr =)@ (B/®)
FESBE—EY:
E0BE —BNHE
ngﬁf’%(% ROWEE | 01 <0.0003 =
FESBE_ER©:
Rl (ke/h) 0.0023 <0.0001 =
FEEEGE _HENEE
ﬁgﬁ)}“%(% RO 8 & 0.019 <0.0020 =
& (kg/h) 0.0019 <0.0001 g
— 3 (ngh) 2801 193.6 =
ZE:
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(6) f IRy &5 g DL 273K ~ 101.3 kPa ~ SE 2R R HE R BB (ET B &
B MLHREEAE 112 HSFEEERE -
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28 22 I FR 4EH SE g H &R E
(B/F)
F—E
8 (H¢ [
B i [ (7K) (E'Jiﬁ B 195106 124 2
)
EEE S %) |0 (;’Eﬁlﬁ 62-94 745 2
5)
EEgB:
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.020 - 0.045 0.021 H
A E (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-3.5 0.9
##  (ppm) <0.5 <0.5
&7  (ppm) <1.0-14 1.0
# (ppm) <0.5-3.7 0.61
i~ S8~ 85~ FERY _
WE (ppm) 25 <2.5-58 3.0 B
#  (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 pies
ZREE (ppm) 10 <.0-43 2.1 =
ALY (ppm) 5 <5 <5 pies
B
H A% ALY A
& M Y S 5000 <15 <15 =
= (ppm)
B # RS E _
(ppm) 10 <5 <5 =
ZbE K Iy 2 = _
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 =
TCDD (ITEF %) | <1 <1 =

(ppb)




